Meno:_____________     Body:___________    Známka:______
	25.4=

	

	13.6=

	

	68:4=

	

	65:5=

	


1. Vynásob a vydeľ. V druhej tabuľke použi rozklad. 
	8.6=
	6.9=
	40:4=
	56:7=

	9.4=
	3.7=
	40:8=
	72:9=

	7.7=
	5.6=
	64:8=
	27:3=


2. Deľ so zvyškom. Nezabudni na skúšku správnosti!
	29:6=

	Sk:

	58:8=

	Sk:





3. Násob a deľ písomne:
456             831           2345 : 5 =                    5229 : 7=
  .  4               . 6

__________________________________________________
B.
Meno:_____________     Body:___________    Známka:______
	15.6=

	

	23.4=

	

	52:4=

	

	75:5=

	


1. Vynásob a vydeľ. V druhej tabuľke použi rozklad.
	8.7=
	7.9=
	20:4=
	49:7=

	9.3=
	4.7=
	20:2=
	54:9=

	8.8=
	5.8=
	72:8=
	21:3=


2. Deľ so zvyškom. Nezabudni na skúšku správnosti!
	33:6=

	Sk:

	50:8=

	Sk:





3. Násob a deľ písomne:
654          741           3265 : 5 =                    4039 : 7=
  . 6            .  4


